Chapter 3
Patterns

[terative patterns and processes:

Question 1.
Continue the pattern to complete the rangoli.

Answer:

Question 2.
Make a pattern of your own on the given category and draw a rangoli.

a. Triangle and circles b. Square and triangle
~ A




Answer:

Question 3.
Draw a pullikolams by looking at the reference image without lifting your hand.

Question 4.
Draw 2 pullikolams of your choice along the given dots.



-
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Answer:
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Patterns obtained by adding numbers (Text Book Page No. 22):
Complete the addition table and observe the pattern in them.

Question 2.
Write the numbers which add upto the given addition fact.

addition fact of 2 addition fact of 12




addition fact of 3

addition fact of 13

+ + + + + +

I3 | 13| 13| 13| 13| I3

addition fact of 14

+ + + + + +

14

14 14 14 | 14 | 14 | 14

addition fact of 15

5 | 5 | 5| 5| 5| 5| 5| 5 15 15| 15| 15
addition fact of 6 addition fact of 16
B | & & % & 6 | 16| 16| 16| 16| 16| T8




addition fact of 9 addition fact
of 19
+ + + + + + + + + + + +
g g g g g g g g g | 19| 19| 19
Answer:;
addition fact of 2 addition fact of 12
0 2 1 1 2 3 4 5 6 7 8 9
2 1#0: el o |*dl |10 |0 |+ 8. .7 |26 120 |*% |*-3
2|2 |12 | 12|12 )] 12 12| 12| 12| 12| 12| 12
addition fact of 3 addition fact of 13
0 1 pa 3 1 2 3 4 5 6 7 8
3 [+2 |1 |+0 |+12 |+12 |+10 |+ 9 |+ 8 |+ L |+ & |*2
3|13 |33 |18 |18 1331313 13] 13
addition fact of 4 addition fact of 14
0 1 2 3 4 1 2 3 4 5 6 7
+4 |+3 . |+2. |+l |+0 |+13 |+12 |+ 11 |+ 10|+ 2 |+ 8 |+.L
15 58 N ) e ] O B
addition fact of 5 addition fact of 15
0 1 2 3 4 5 1 2 3 4 5 6
-5 o4 1#3 1+2 1801 [0 |%]8 |+ 13 |+ 12 |+ 1 | +10- 1+ 3
S| sls | B |55 ]| 5|3 3513 45] 35
addition fact of 6 addition fact of 16
0 1 2 3 4 5 6 1 2 3 4 5
«6 |5 |+4 |3 |2 |+1_ |+0 [|+1D |+14 |+13 |+18 |+lL
6|6 |6 |6 |6 |6 | 6| 6] 6] 16) 16|16
addition fact of 7 addition fact of 17
0 1 2 3 4 5 6 1 1 2 3 4
+7_ 1*8. |2 |* 4 1+ 3 |+2_ |*.L 1*0_ =16 |+15 |+14 1+13
DN I O RE A O D [ S| T I N0 I ¢ [ ) 7 o8 R ¥




addition fact of addition fact of 18
0 1 2 3 4 5 6 7 8 1 2 3
+8 |+Z_ [+6_ |+5 [+4. |+3_ [+2 |+L [+Q |+1Z [+16 |+15
8 |8 |8 |8 (8|8 | 8|8 |8 |18[18]18
addition fact of 9 et
0 1 2 3 4 5 6 7 8 19 1 2
t9_ [+8_ [+Z_ |6 |+5_ |+4_ |+3 |+2_ |[+L [+ [+18 [+1z
s | 5l&E |3 e 9]9 |9 |08 398
Question 3.
Find out the missing numbers and write them in the given blank.
23 74 45 12 25
+ 3_ +5_ +1_ |+ 3 |+ 3
60 130 | 61 | 105 | 118
Answer:
23 74 45 12 2o
+ 37 + Bbb + 16 + 93 + 93
60 130 61 105 118
Exercise (Text Book Page No. 25):
Continue the patterns by using multiplication as repeated addition.
SOCJC
i i O R T RO R EOR S JC
Pictorial | 2 i EOH R R OR
representation O O O o OH O O
CJCJC
CCJC
Repeated
addition
statement
Multiplication
fact




Answer:

MV K O OH
LR
) ) o RO O O S — MR O N
Pictorial |z iz iz % R R H K T EETEY?
representation PO IO Y MO O K
MH RO X M R OH
M VRO R
MR O X OK
Repeated
addition 5 5+5 9+5+5 5+5+5+5 | 5+5+5+5+H
statement
Multiplication | g 4.5 |5x2:10|5%3:15 [5x4=20 |5x5=25
fact
O S
Pictorial - & o & &
ictorial e 2
representation - & - &
& &
O 3
Repeated
addition statement
Multiplication fact
b.
Answer:
>0
&
ictori & & i N i
Pictorial . - R o ok
representation & & in P
S
P
Repeated
addition 2 2+2 2+2+2 2+2+2+2 | 2+2+2+2+2
statement
Multiplication ait=dl | wwoza | 2w Fovace |2eR810
fact _




Exercise (Text Book Page No. 26):

Express the division facts as repeated subtraction using patterns.

a)24+3
Answer:

Step: 1

% % ok %k ko ok ok
L B 8 & &8 & &4

KKK

24-3:=21

Step: 2

* % % % & ok ko k
* % K K F %k ok kKK

¥

21-3=18

Step: 3

* % & Kk Kk k ok kK
* Kk d k¥ K

18-3=15

Step: 4

L S & & & 8 & & & ¢
LR .8 & 1

15'-3=12

Step: 5

* ok ok ok ok ke ke ok
LR

12-3=9

Step: 6

%k ok ok ok ke kK K

Step: 7

ok ok kKK

Step: 8

22

w o0
'

w w w
"

OoO|lw| o

24+-3=28

b) 22 + 2
Answer:

Step: 1

AAAAAAAAAA
AAAAAAAAAA
AN

22-2=20

Step: 2

AAAAAAAAAA
AAAAAAANMA

20-2=18

Step: 3

AAAAAAA! AA

AAAAANA

18-2=16




AAAAAAAAAA

Step: 4 16-2=14
P A AR
A M
¢ |AAAAAAAAAA
Step: 6 12-2=10
Y
Step: 7 |[AAAAAAANMA 10-2=8
Step: 8 [A A A AAAA 8-2:=6
Step: 9 |AAAAAL 6-2:-4
Step: 10 | A A AL 4-2=2
Step: 11 | £ £ 2-2=0
22+2=11
c)32+4
Answer:
0000000000
step:1 | 9QQQQ0O000Q0Q 135,428
Q0000000 HD
VaYs)
oleleleleolelelo]eTe
Step:2 | OOQOQQOOOQ0O |28-4=24
QQQQDHBHDH
olelelolelolele)eTe!
Step:3 [OOOQOOOQO0O0Q ([24-4=20
[6Y0Y0Yo MR
Step: 4 0000000000 20-4-=16
*" lacaaaabdbbs
Step:5 | QQQQOQ0000  116-4=-12
" |0cbbbs
Step: 6 2200000065 12-4-8
Step: 7 | O0QQQHHHD 8-4:4
Step: 8 | A A7 4-4:=0




32+-4=8

d)15+3
Answer:
O000000000 N
Step: 1 15-3=12
P | onAAA
A000000002d
Step: 2 12-3:9
P AA
Step: 3 | 0000744 9-3=6
Step: 4 | iAo 6-3=3
Step: 5 | AAA 3-3:=0

15+-3=5




